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THREE YEAR B.A./B.Sc. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2018

CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
Part II — Mathematics
Paper : I — DIFFERENTIAL EQUATIONS
(For the Students admitted during 2015-16 Only)

Time : 3 hours’ Max. Marks : 75

SECTION - A
8 -
Answer any FIVE of the following questions. Each question carries 5 marks.
I DD (DO TR0 EEANSN. [HA [$EHH 5 Doesd)en.
(Mark_s : 5 x 5 =25)

dy
1. Sol
olve xd

D y=ylogx.
x

xgl +y=ylogx X0 AGoBodw.
x

«

2. Find the orthogonal trajectories of family of curves r=a(l-cosd) where “a” is
parametre.

r=a(l-cosf) &d Jro KHenowo B, o J0PEIVOH ELAI0E. a¥),E “a” eI
ST°B.

3. Solve p?-Tp+10=0.
P2 —Tp+10 =030 3oHos.
‘4. Solve y =2px—p®.
y=2px-p* @‘66;50&.
5. Solve (DZ—D—2)y=sin2x.

(D - D-2)y = sin2x % 6008,

[P.T.0]



10.

&y dy _dy
Solve it S—F—Sd—i-lZy 0.
Ay d’y _dy
PR 2_8d +12y =0 B odod.

Solve x* 2 d% 2 ox? d—+2y 10[x+1].
ng dx?

3d.)'
d3 dx*

X

+2x2 d—l +2y= 10(x + ] 30 2B0%08.

Form the partial differential equation from x2 +y°+(z-c)l =a® by ehmlnatmg the
constants a and “c”

P4yt (z-cf =a® & 8 Soagwond “a” 28w “” ok FeRosm DBy FEE @dEOD
SEGETR Erasod. ‘

(a)

(b)

(b)

SECTION - B
> - o
Answer ALL the question. Each questions carries 10 marks.
BR) FHOLH SITFTHI0e oot 58 %)% 10 drsen.
(Marks : 5 x 10 = 50) .
Solve y(1+ xy)dx + x(1-2xy)dy =0.
y(1+ xy)dx +x(1-xy)dy =00 @v@‘oéo&.

Or
de_dy __d
¥y -x 2x-3y’
dx _dy __dz
y -x 2x-3y

Solve

0 ;BoWod.

Solve x;yz(p2 + 2): 2py® +x3.
xy?(p? + 2)= 2py% + x% %0 280908,

Or
Solve 2xp® —-6yp? +x* =0.

2xp® —6yp? + x* =0 F0 3BoBod..
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10. @)
b)
11. a)
b)
12. a)
b)
13. a)
1-1-112

Solve p* +2pycotx =y’

P’ +2pycotx =y & FHoHsm.
OR

Solve y = 2xp + x°p*.

y=2xp+x’p* & FeoHdm.

&y d .
Solve dx{—65y+l3y=8e3 sin2x

d’y _dy i

—7—6E+13y=8e3 Sin2x % o
OR

Solve (D~ 4D+3)y = sin3xcos 2x.

(D*-4D+3)y =sin3xcos2x % FgoHin.

Solve (D2 +a’ ) y =secax by the method of variation of parameters.

Hordoehe DSSes :;gza oo (D2+ a’ ) y=secax L JHoHhdw.

OR
Solve (x2 D*+xD- 4)y =
(¥ D*+xD-4)y=x" % o

Find the Integra! of (y % z)p + (z + x)q = x+ y by lagrange’s method.

(y+z)p+(z+x)g=x+y & BrroER $586° SH¥eTY EHGHGD.

3)
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THREE YEAR B.A/B. Sc. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2019.
(CHOICE BASED CREDIT SYSTEM)
FIRST SEMESTER '
Part-II — Mathematics

Paper I — DIFFERENTIAL EQUATIONS
(Revised Syllabus w.e.f. 2016-17)

- Time : 3 hours Max. Marks : 75
SECTION - A
WES -
Answer any FIVE of the following questions.
Each question carries 5 marks.
808 T3S° DD e (HHOL IR0V EPA[0.

B8 9% 5 Soedyen.

(Marks : 5 x 5 = 25)
1.  Solve (xy2+2x2y3)dx+(xzy—x3y2)dy=0.

oW (xy2 + 2x2y3)dx + (xzy - xsyz)dy =0.

2. Solve x% (y - px) = yp*.
8o x? (y - px) = yp*.

"38. Solve (Dz+4)y=xsin x.
AB0W[B0 (D2 +4)y =xsinx.

4. Solve xp® =a+bp.
B0 xp’ =a+bp.

5.  Solve (D3 -5D% +8D - 4)y =e%.
>§omodw (D* ~5D +8D - 4) y = €™

6. Solve (D*+8D*+16)y=0.
28008 (D' +8D* +16)y =0.

[P.T.O]



12.

13.

(2)

(b)

(@)

()

Solve (D2 8D« l)y =Xx-COSX.
DBOWOR0 (D2 +2D+1)y =Xx-COSX.
Or
Solve (D2 -2D+ 5)y =e?* .sin x.
BoR0I0 (02 -2D+ S)y =e* .sin x.

Solve (D2 + 1) y = cosec x by the method of variation of parameters.
(D +1) y = cosec x %SRBI DITE? S TFO® FHoBID.
Or
Solve (xZD2 —xD + 2)y =xlogx. i
B[R0 (JcZD2 —xD+ 2) y = x logx .
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12.

13.

(@

(b)

(@

(b)

Solve (D2 +2D+ l)y =X-COSX.
A0 (D2+2D+1)y:x~cosx.
Or
Solve (D2 -2D+ 5)y =e® .sinx.
BB (D2 —2D+5)y =e? .sin x.

Solve (D2 + 1) y = cosec x by the method of variation of parameters.
(D? +1) y = cosec x % SorB DI JES TR0 #HoBIS®.
Or
Solve (x“’D2 —xD + 2) y = x logx .
B0 (x2D2 —xD + 2) y = x logx .
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